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7 100kN/mM%E#BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 000 ~ 7.75 99.48 | #nLS | 000 ~ 7.75| 1.99 10.67 s 1.00 | 6.00 ~ 1144 99.48 | #nLS | 6,00 ~ 1144| 1.99 10.67
2 100kN/m%#8z5 | 1.00 | 000 ~ 1.89| 12914 |3mE#Bz5| — ~ — — — | 100kN/ %825 | 1.00 | 1054 ~ 17.58| 129 14 |3mE#Z5 - ~ — — —
s 1.00 | 1.89 ~ 968 100.00 | =nst | 0.00 ~ 9.68| 2.35 12.60 s 1.00 | 6.00 ~ 1054 100.00 | =5 | 6.00 ~ 17.58| 2.835 12.60
3 100kN/m%E#8z5 | 1.00 | 000 ~ 240 137.47 |3mE#Bz5B| — ~ — — — | 100kN/ %825 | 1.00 | 1065 ~ 2200| 137.47 |3m&E#Z5 - ~ — — —
s 1.00 | 240 ~ 1018 100.00 | #nLst | 0.00 ~ 1018] 2.62 14.01 s 1.00 | 6.00 ~ 10.65 100.00 | =4 | 5.00 ~ 2200 2.62 14.01
4 100kN/m%E#8z5 | 1.00 | 000 ~ 212 13289 |3mE#Bz5| — ~ — — — | 100kN/ %825 | 1.00 | 11.02 ~ 2202| 13289 |3m%E#Z25 - ~ — — —
s 1.00 | 212 ~ 991 100.00 | =0t | 0.00 ~ 9.91 | 2.53 13.66 s 1.00 | 6.00 ~ 1102 100.00 | =5t | 6.00 ~ 2202)| 2.63 13.66
5 100kN/m%#8z5 | 1.00 | 000 ~ 0.79| 111.86 |3mE#Bz5| — ~ — — — | 100kN/m%i#8=x5 | 1.00 | 1222 ~ 1591 111.86 |3m%EiBZ 5 - ~ — — —
s 1.00 | 079 ~ 858 100.00 | =nstr | 0.00 ~ 858|212 11.35 s 1.00 | 6.00 ~ 1222 100.00 | =nSt | 6,00 ~ 1591 2.12 11.35
P 100kN/m#z#Z5| 100|000 ~ 053] 107.82 |3m&E#BZB| — ~ — — — | 100kN/ %825 | 1.00 | 10564 ~ 1200| 107.82 |3m%E#Z5 - ~ — — —
s 1.00 | 0.53 ~ 831 100.00 | =04t | 000 ~ 831|221 11.83 s 1.00 | 6.00 ~ 1054 100.00 | =St | 6,00 ~ 1200| 2.21 11.83
7 100kN/ Mz 25| 1.00 | 000 ~ 029 104.24 |3mE#z22| — ~ — — — | 100kN/ %825 | 1.00 | 11.09 ~ 1200| 104.24 |3m%E#Z5 - ~ — — —
ZhLlst 1.001029 ~ 807| 100.00| Fhis | 000 ~ 807 2.04 10.91 zhLlst 1.00 | 6.00 ~ 11.09| 100.00| Fhs | 500 ~ 1200| 2.04 10.91
3 100kN/mM#{BZ % — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
ZFhst 100|000 ~ 505 62.99 | FnLS | 000 ~ 505 1.77 9.47 ZFhst 1.00 | 5.00 ~ 5.40 62.99 | Tns | .00 ~ 540\ 1.77 9.47
100kN/mM#{BZ % ~ 3ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~
100kN/mM#{BZ % ~ 3ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ ZhLst ~ st ~
100kN/mM##BZ % ~ ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~
100kN/mM#{BZ % ~ ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ ZhLst ~ st ~
100kN/mM##BZ % ~ ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~
100kN/mM#{BZ % ~ 3ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ ZhLst ~ st ~
100kN/mM#{B% % ~ 3ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~




